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QUESTION 371Refer to the exhibit. Assuming that all blades are equipped with Cisco UCS VIC 1280 adapters, which two
statements can be confirmed from the output? (Choose two.) [ 22 5
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A. TheCisco IOM model isa2104XP.B. The Cisco IOM model isa2204XP.C. The Cisco IOM model isa2208XP.D.
Blades 3, 4, 5, and 8 are missing.E.  Blades 3, 4, 5, and 8 are not associated with a service profile.F. Link Group Preferenceis set
to Port Channel. Answer: BD QUESTION 372In one-armed design, which method must be used to achieve symmetric load

balancingin ACE?A. Dua NATB. Round RobinC. Dynamic Routing ProtocolD. MAC Probe Answer: A QUESTION 373
Refer to the exhibit. Which two statements about the diagram are true? (Choose two.)

A. Cisco UCS Manager is set to FC switching mode.B. Cisco UCS Manager is set to FC end-host mode.C. Thetopology is
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not supported.D.  The uplinks from each FI can carry multiple VSANS.E.  The uplinks from each FI can carry asingle VSAN
only. Answer: BD QUESTION 374Which three statements about Cisco UCS Fabric Interconnect fiber channel end-host mode are
true? (Choosethree.) A. The Cisco UCS Fabric Interconnect sends BPDUs northbound.B.  The Cisco UCS Fabric Interconnect
never learns northbound dynamic MAC addresses.C.  The Cisco UCS Fabric Interconnect learns dynamic MAC addresses from
direct attached storage fiber channel ports.D. VvNIC fabric failover is never available in end-host mode.E.  Link status changes on
uplink ports are propagated to host vNICs.F.  The Cisco UCS Fabric Interconnect learns southbound dynamic MAC addresses.G.
VHBA fabric failover is enabled by default. Answer: CEF QUESTION 375What is the maximum combination of static vNICs and
vHBASs for Cisco UCS Manager version 2.1 when using ESX 5.1?A. 18eNICsand 8 fNICsB. 24 eNICsand 8 fNICsC. 12
eNICsand 8 fNICsD. 18 eNICsand 9 fNICs Answer: A QUESTION 376Which two actions must be done before configuring
iSCSI boot for aserver? (Choosetwo.) A. The storage array must be licensed for iSCSI boot.B.  The operating system must be
iBFT-compatible.C. Zoning must be configured.D. Boot parameters must be configured in the global group policy.E.  |P subnet
of iSCSI initiator hasto be in the same subnet as that of storage array. Answer: AB QUESTION 377Refer to the exhibit. When you
assign this disk policy to Server 1/1, it fails. Which option describes the reason for this failure? [ oo e
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A. TheRAID controller does not support single disk configurations.B.  Only RAIDO and RAID1 are supported.C. The server
is equipped with alocal disk.D. Protection is enabled on the existing disk. Answer: C QUESTION 378Refer to the exhibit. Which
two things can be determined from the SEL log output? (Choose two.) 1b | 0108/2011 19:26:18 | CINC | Memory DDR3_P2GPZA0

_ECC #0xaé | Upper critical = going high | Asserted |
Reading 253 » Threshold 10 error

lc | 017082011 19:25:18 | CINC | Memory DDR3_P2GP2A0
_ECC #0xaé | Upper Non-recoverable — going high |
Asserted | Reading 253 » Threshold 15 error

id | 01-08-2011 19:25:18 | CIKC | Platform alert
LED_BLADE_STATUS #0xb? | LED 1s blinking fast | Asserted

1= | 01-08-2011 19:25:18 | CIMC | Platform alert
LED_BLADE_STATUS #£0xb9 | LED color is amber | Asserted

1f | 01-08-2011 19:25:20 | CIMC | Memocry DDR3_P2GF2Al
_ECC #0xa? |
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21 | 01-08-2011 19:25: 25 | cINC | Memory DDR3_P2GP2A1
_ECC #0xa? |

22 | 0L/08-2011 19:25:25 | CINC | Memory DDRI_P2GP2A1
_ECC #0xa7 | Upper critical - going high | Asserted
I?e.ad)ng 253 » Threshold 10 error

23 | 01-08-2011 19:25:25 | CIMC | Memory DDR3_P2GP2Al
_ECC #0xa7 | Upper Hon-vecoverable — going high |
Asserted | Resding 253 » Threshold 15 sxrox

24 | 01-08-2011 19:25:36 | CINC | Memory DDR3_P2GP2Al
_ECC #0xa? |

25 | 014082011 19:25:48 | CINC | Hemory DDR3_P2GP2Al
_ECC #0xa? |

A. Theserver experienced acrash.B. The server experienced correctable memory errors.C. DIMMsin channel 2 are
experiencing memory errors.D. DIMMsin channel 0 are experiencing memory errors.E. Memory errors have crossed two
thresholds. Answer: BE QUESTION 379Drag and Drop QuestionDrag and drop the actions on the | eft to the correct order for a
step-by-step FCIP link configuration on the right.
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QUESTION 380Which three predictors are supported on ACE to select the best server to fulfill a client request? (Choose three.) A.

Hash Address, which selects the server by using a hash value that is based on the source | P address, the destination | P address, or
bothB. Hash URL, which selects the server by using a hash value that is based on the requested URLC. Hash MAC, which
selects the server by using a hash value that is based on the source MAC address, the destination MAC address, or bothD. Hash
Header, which selects the server by using a hash value that is based on the HTTP header nameE.  Highest bandwidth, selects the
server that processed the highest amount of network traffic based on the average bandwidth that the server used over a specified
number of samplesF. First Come First Server, always selects the first server in the list of real servers. Answer: ABD QUESTION
381Which three options are valid ACE health probes? (Choose three) A. SIPB. ECHOC. FingerD. IPsecE. TFTPF. SSH
Answer: ABC QUESTION 382A load balancer can be defined as a network device that makes forwarding decisions that are based
on parametersin Layers 4 to 7 of the OSI model. Which three parameters are involved in forwarding decisions? (Choose three.) A.
TCP Destination PortB. DNS RecordC. HTTP Session CookieD. SNMP GETE. String recognized in the connection dataF.
Uniform Resource Locater Answer: ACE Braindump2go Offers PDF & VCE Dumps Download for New Released Cisco 350-080
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